625/BT/T/

BT/6th Sem/CS-605C/EVEN/15

2015

B. TECH (6th Sem)
(CSE)

Paper Name : Multimedia Teéhnology

Paper Code : CS-605C

C Full Marks : 70 Time : 3 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.
Separate answer bookiet io be used for

PART-A and PART-B.

PART-A
{Marks : 35)

GROUP-A

(IVIultiple Choice Type Qﬁestions)
1. Choose the correct alternatives for any five of the
Oi . following:. - 1x5=5

‘i) - Raster scanning starts from

a)

b)

c)
d)

top left corner of the screen
top right corner of the screen
bottom left corner of the screen

bottom right corner of the screen.
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ii) What will be the size of a 1200x1600 image
of 16 bit depth?

a) 29.29 MB
b) 117KB
c) 192KB

d) none of these
iii) DCT stands for
a) Direct Color Transformation
b) Discrete Cosine Transformation
c) Differential Coding Transformation
d) None of these.
iv) Pixel depth will generally be expressed as
a) either 8 bit, 16 bit or 24 bit
b) either 32 bit, 48 bit or 64 bit
c¢) both (a) and (b)
d) none of these.
v) CD-ROM operates on
a) 1 mode
b) 2 mode
"¢) 3 mode

d) 4 mode.
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vi) MIDI is a/an
a) protocol
b) instrument
c) cable
d) none of these.
vii) What is JPEG?
a) Joint-Photographic Experts Group _
b) Joint-Picture Experts -' Group
c) Joint-Photographic Execution Committee
d) None of these
viii) Huffman Encoding scheme is an example of
aj Entropy encoding
b) Source encoding
c) Hybrid encoding
- d) None of these.

GROUP-B
(Short Answer Type Questions)

Answer any three of the following : 5x3=15

2. State the Nyquist sampling theorem. What is
sampling? How does sampling rate effect file size?
2+1+2=5
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What are the MIDI messages? What are the
components of MIDI? P 3425

a) What are CAV and CLV in case of spining
disk media? 3

b) An audio CD (CD-DA) contains 70 minutes
of audio. Calculate the storage capacity of CD.
2

What are the limitations of CD-ROM technology?
Give a brief overview of CD-ROM architecture.
2+3=5

What is colour gamut? What is anti-aliasing? What
is Gamma? 14+2+2=5

Define sound sampling resolution and quantization
error. An uncompressed CD quality audio signal is
sampled at the rate of 44.1KHz is quantized with
16 bits per sample. What is the storage space
required for recording of this signal for 2 mins in

a magnetic storage media? -5
GROUP-C
(Long Answer Type Questions)
Answer any one of the following: 15x1=15

a) Explain the terms 'luminance', 'hue', saturation
used to specify the colour characteristics of
an image. 3
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b) Describe briefly RGB colour model. How is it

related to CMY[K] colour model? What is the
value of K? 4+4+1

c) Write down the names of three popular image
file formats. ‘ 3

How does a device dependent colour model differ
from device independent colour model? What is
colour space? What is colour wheel? Explain with
appropriate figure. How does display of an image

depend upon the display unit? 5+2+2+6=15

Write short notes on any three of the following :
5x3=15

a) MIDI

b) I-frame, B-frame .and P-frame
c) Scanner

d) Quantization error

e) ODA.
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PART-B ; iv) The intraframe correlation is related to

(Marks : 35) a) Spatial redundancy

GROUP-A b)
(Multiple Choice Type Questions)

Choose the correct alternatives for any five of the

Temporal redundancy
c) Both (a) & (b)
d) None of these.

following: 1%x5=5

i) MP3 is in which of the following MPEG ™ @™ V) Transform coding involves conversion from
standards? a) Spatial domain to frequency domain
a) MPEGI b) Temporal domain to frequency domain
b) MPEG2 ¢) Both (a) and (b)
¢) MPEG3 d) None of these.

d) MPEG21 vi) What is DCT?
ii) Rich text is known as
) a) Discrete continuous form
a) un-formatted text

b) Discrete cosine transform
b) formatted text

¢) hypertext ¢) Discontinuous cosine transform
d) None of these. d) None of these.
~ .
iii) The Run length encoding of the given string vii) RGB and CMYK models are used for
AAAABBBBBCCDEE is ‘ a) Computer display and printing

a) AG6A2BSC2DE2
b) !8A!SBCCDEE
c) 8ASB2CID2E
d) A8BSC2DIE2.

b) Printing and painting
c) Both for printing
d) None of these.
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